
This knowledge review has been created to help confirm your understanding of IPSGA

1) ��State the definition of a ‘Hazard’ by 
filling in the words below:

A hazard is:

A _ _ _ _ _ _ _  W_ _ _ _  

C _ _ _ _ _ _ _  an

E _ _ _ _ _ _  of  A _ _ _ _ _  

or  P _ _ _ _ _ _ _ _

D _ _ _ _ _

2) Fill in the words for the mnemonic OAP

O _ _ _ _ _ _ _ _ _ _

A _ _ _ _ _ _ _ _ _ _ _

P _ _ _ _ _ _ _

3) �Which element of IPSGA is key as it 

informs all other stages?

_ _ _ _ _ _ _ _ _ _ _

4) �What are the three aspects to 
effectively gathering information and 
communicating with others?

T_ _ _

U_ _

G_ _ _

5) �What should an advanced rider be 
prepared to sacrifice when positioning?

_ _ _ _ _ _ _ _ _   

_ _ _ _ _ _ _ _  

_ _ _   _ _ _ _ _ _

6) �The correct speed is:

The correct speed is the 

S _ _ _ _  R _ _ _ _ _ _ _ to 

S _ _ _ _ _  N_ _ _ _ _ _ _ _ 

the H _ _ _ _ _

7) �When engaging the correct gear for the 
circumstances, a rider needs to select a 
gear with sufficient what

_ _ _ _ _ _ _ _ _ _ _

8) �For the purposes of IPSGA, acceleration 
is mainly concerned with what? 
 

The rider’s ability to L _ _ _ _ any 

H_ _ _ _ _  S _ _ _ _ _
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IPSGA 
Rider knowledge review 1 Answers

This knowledge review answer sheet has been created to assist in confirming the correct 
answers to the IPSGA knowledge review

1) ��State the definition of a ‘Hazard’ by 
filling in the words below:

A hazard is: 

Anything which contains an element of 

actual or potential danger

2) Fill in the words for the mnemonic OAP

Observation

Anticipation

Planning

3) �Which element of IPSGA is key as it 

informs all other stages?

Information

4) �What are the three aspects to 
effectively gathering information and 
communicating with others?

Take

Use

Give

5) �What should an advanced rider be 
prepared to sacrifice when positioning?

Sacrifice position for safety

6) �The correct speed is:

The correct speed is the:  

speed required to safely negotiate  

the hazard

7) �When engaging the correct gear for the 
circumstances, a rider needs to select a 
gear with sufficient what

Flexibility

8) �For the purposes of IPSGA, acceleration 

is mainly concerned with what?

The rider’s ability to  

leave any hazard safely
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